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Smoking causes DNA changes in our body s
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The researchers sequenced the genome of thousands of cancers. They calculate that a 20
a day smoker will accumulate an average of |50 mutations every year in each lung cell -
97 in the larynx and 23 in the mouth. These changes are permanent, and each one
represents a chance of triggering cancer. Even in tissues not directly exposed to smoke,

there are DNA mutations - |8 per year in the bladder and six in the liver.

The joint lead author Prof Sir Mike Stratton, of the Wellcome Trust Sanger Institute, said

DNA analysis would help explain the mechanisms triggering other cancers.

"By looking in the DNA of those cancers, we will find these mutational signatures, these
archaeological traces of the past exposures, these will provide us clues to the agents that

are responsible, and that will lead potentially to prevention."

One clear message from this research is that the quicker and younger smokers quit, the

fewer DNA mutations they will be harbouring.
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|. How many mutations are seen on average in each lung cell every year for a 20 a day

smoker?

2. Which part of the body is more likely to experience DNA mutation for a smoker?

3. True or false? ‘Tissues not directly exposed to smoke are protected from DNA mutations.’

4. Which word has a similar meaning to ‘historical’?
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|. How many mutations are seen on average in each lung cell every year for a 20 a day
smoker?
On average 150 mutations can happen to each lung cell.

2. Which part of the body is more likely to experience DNA mutation for a smoker?
The larynx or the voice box is most likely to experience DNA mutations for a
smoker.

3. True or false? Tissues not directly exposed to smoke are protected from DNA mutations.
False. Even tissues that are not directly exposed to smoke are at risk from DNA
mutations.

4. Which word has a similar meaning to ‘historical’?
Archaeological.
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